12

+B07324332 10
XBO758+143
©B0932+08%F 8
AB224AT7+14(

Gai

40

35

30

Tsys [K]

25

20

90

85

80

75

70

AvgBmWidth [aSec]

65

60

168

Oldec17/ to 31decl1/ all freg

pnts. Gain K/Jy

- FIc 1
- s 4 % A o 9 =
- A & & K & g o gt -
a3 43 7
L ;; 42 + 4; ]
0 5 10 15 ‘ o
Tsys
- 3300. 3500. 3628. 3800.Mhz . . .
- ++ L+ + ]
- #Ei’ﬁﬁ*ﬁ + + 7]
L A% A A % X X X X% X A %%+++ + + + ]
- AR A A A X X X X X A %ﬁ%ﬁj@i ¥ —
n AN A A A ¥ ¥ X & A .
0 ‘ W‘O 1‘5 20
Sefd
E %< A& T A % § T g
; f§é§ . iﬁ A Zf Ef ﬁg = %; ;
= Ar 2 4 - 8 3
= AA DR -
AvgBmWidth
E AA A A A ZX ‘5{ £‘+&i T i E
= éi A {i Zf x %% “ A ;§ﬁ++ “ -
- Ba g B op X X X SR o+ ]
= Aatom o Bowox . 2 BT =
- Ay B A . B% o Ao -
= AR LA « x A A =
3 5 o - S

zda



Oldec1/ to 31dec1/ 3300 Mhz 42 pnts. Gain K/Jy

N
o

N
o

1210 _
+B0732+332 10— FIG 2]
KBO758+143 i
©B0932+08% 8~ —
AB2247+14% L ]

£ L A _
g 6 AA A A o0 ]
& - A - % & A j§%+fti -
‘C Tyt ]
C T+ 3
2 1 | | L
0 5 10 15
za
Tsys
40 ‘ _
35— —
g - o 4+ T - -
o 30 %ﬁ&rﬂéﬁﬁ ]
. AA A A & X X X & XK A .
25— —
20, ‘ ‘ ‘ | ‘ ‘ ‘ ‘ | ‘ ‘ ‘ ‘ ! ‘ ]
0 5 10 15
za
Sefd

°E | XA o 3

= ¥ * X A =

E A A A A o E

- E Ap L AA S 3
> — I
e E o A =
> £ =
2 A =
) E |
L — |
L — |
w — |
SE E
ZE L L L L 1 n n n n | n L L L | E

0 5 10 15 2

za
AvgBmWidth

90 N A A S T E= =
- ok, X4 A oy -
85— A A AA‘F —]
il ® o+ 3
9 80— =
% 75— —
; — —
& C ]
o 70— —
5 C _
2 C m
65— _
60 C ‘ ‘ ‘ .

0 5 10 15 2

zda

0



+B0O732+332
KBO758+143
©B0932+089

ABD2AT+14

Jy

Gain ER/

Tsys [K]

AvgBmWidth [aSec]

12

10

8

[e)]

40

35

30

25

20

90

85

80

75

70

65

60

Oldec1/ to 31dec1/ 3500 Mhz 42 pnts. Gain K/Jy

- FIG 3
- I O ° o -
n & @é & % ++++ ]
- ++++ ]
L + i
B + o+
0 5 10 15 20

zda

Tsys
- + LT :
- %Xﬁﬁ& o -
N AA A A A X X X X & A 7
0 5 10 15 20

zda

Sefd
g | XA ]
= 4 X X E
= A A A AN DB B E
= AN D = & E
= 2a b s e
0 5 10 15 20

zda

AvgBmWidth

- A i+ i
- X /\ 7
= A A « B A OB E
= = ¥ + 7
0 5 10 15 20

zda



Oldec1/ to 31decl/ 3628 Mhz 42 pnts. Gain K/Jy

120 N
+B0732+332 10— FIG 4
XBO758+143 [ .
CBOC 32+08% 81— —
AB2247+14% L[ ]

£ L VAN NERAN =
s 6 AR A co ]
Tk N N B o ]
o *1+47%i ]
A T 7
0 5 10 15 20
za

Tsys
40 ! _|
— L + + B
x F Qﬁﬁk+%r+ﬁ“+ ]
g S0 An B & n XK X X X X D ~
o E 7
25 -
200 ‘ ‘ ‘ ‘ ‘ ‘ ‘ ‘ ‘ ‘ ‘ ‘ ‘ ‘ | B
0 5 10 15 20

za

Sefd
6F T -
= K X A =
= AN A A =
= A & =
v E A A A I

= A E

= — |

~ E =
2 A =
=) - =

L — |

L — |

w — |

SE E

2E n n n n | n n n n | n " " " Il E

0 5 10 15 20

za
AvgBmWidth

907 T T ]
— A j’ + -
85— A + —
E‘ E g A = A i X ++ <~:~>+ E
Q80— A Pis A + 4o A -
o e A A NG =
e = AN A Q“% -
= ¥ -
= = .
I C .
D 70— —]
o = m
< £ -

65— _

600 ‘ ‘ ‘ ‘ ‘ ‘ ‘ ‘ ‘ ‘ ‘ ‘ ‘ ‘ -

0 5 10 15 20

zda



+B0732+332
KBO758+143
CB0932+089

ABD2AT+14

Jy

Tsys [K]

AvgBmWidth [aSec]

12

10

40

35

30

25

20

90

85

80

75

70

65

60

Oldec1/ to 31dec1/ 3800 Mhz

42 pnts. Gain K/Jy

- FIG 5]
L A A A ]
— AN % N -
L éK @{ & Q% % A 4 + _
m %++A 7
B n ]
C T N
C | | | | T+ 4 O
0 5 10 15 20

za

Tsys
- 0% +
r Lo+ ]
- A ]
- AA A b A X X x x K b -
0 5 10 15 20

za

Sefd
= A =
E A =
£ An © 3
= AN A A =
0 5 10 15 20

za

AvgBmWidth

- + e
¥ N oy + ]
3 N M E
- A A A A x X & A Ta A =
: + ]
0 5 10 15 20

zda



